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Note : Attempt all questions.

(if) W FHIE 11 Q19 9% F g § aviafte faweq e T €

Internal choices are given in Question Nos. 11 to 19.

fdr : (37) WY wEE 1 aKAS yE €1 7 @ |@vs §1@ee (H) H
- Tgfamedid v T @ue (F) ¥ faa @l & 9fd o 3
fer g €1 vAF @R H 5 Y § qU Tq® T W 1 AF

amEfed g1
Instruction : (A) Question No. | is an objective type question. It has two
Sections. In Section (A), Multiple choice questions and in
Section (B), Fill in the blanks are given. Each section has 5

questions. Each question carries | mark.

-1 (@Ue-3) Gel fashey FAa fafan : [1x5=5]
(Section-A) Choose and write the correct option :
() ‘W'AEAREAME
(37) wfag &1 () fagm S
(@) FE (3) w@
‘Mho’ is the unit of :
(@) Resistance (b) Electric conductivity
(c) Work (d) Force

L-75-B R.T.0.
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(2]
(i) AR FGAL
(37) CH,
(7)) C,Hg
(7)) CyH,
(?) CHO
Formula of acetylene is -
(@) CH,
(b) C,H¢
(c) C,yH,
(d) C,HO
(iii) 3,5,6,3,4,4,5,6, 3,3 F9geH el
(e 3 (=) 4
(| 5 () 6
Mode of 3,5,6,3,4,4,5,6,3,3 willbe :
(@) 3 (b) 4
() 5 (d) 6
(iv) o FRa FTa g -
(37) et yagq °
(7) ATl v |
(&) (N (DA
(%) 37 Q=1 7a1
Ethyl alcohol is formed :

WO dUI[UOPIL0q3> mmm//:dny

(a) in aerobic respiration
(b) in anaerobic respiration
(c) inboth (a)and (b)

(d) None of these



WO QUIUOPIBOGID MmMm//:dny

(3]
(v) FABUFWE .

(37 fasnfem (%) wufem
(/) st (3) Mg
For fruit ripen, following is used :
(a) Gibberellin (b) Ethylene
(¢) Auxin ' (d) Methane
-1 (Eve-a) fea w5t gl S [1x5=5]

(Section-B) Fill in the blanks :
() ¥ FEawdwm
Brinjal is plant of family.

(if) Wved A A WM F faw _ F 99 o gE TR A

Mendel had sclected plant for his experiment.

WOo dUIUOPILOGS MMM/ dy

(iii) ‘AL’ IO F TH VRIS HIE 71
is a beneficial insect of ‘Lapideptera’ order.
(iv) ‘oTREre’ o & el & forg TR Wi 71

is a harmful insect for plants of ‘Isoptera’ oder.

) w%ﬁ?ﬁaﬁmﬁmﬁﬁmﬁn

The action to reduce inflorescences of flower is called
Fder . (F) Y FHiE 2 A 6 T ATETIE Y § 1 TS TH W
2 3 T €1 (IW F AfuFad U=-F 30 U= )
Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of
answer is 30 words)
wrt-2  Jwprfast 1 v fram fafag (2]

Write the First law of Thermodynamics.




WOod UI[UOPIROGSI Mmmm//:dny

e

[4]
Write the definition of Organic chemical.

e fe ¥ TR Y TR 8 IS 9 S 5 Wew ¥, ) s Swwe
7@ ST
Calculate area of a triangle whose length of base is 8 meters and

height is 5 meters.

Tt = € 2

What is Genetics?

TYARE! T IR fomay ST 3 ey B & 2 it 3 s ftfr |

In how many parts Apis body is divided? Write the name of the parts.

: (R) W99 A% 7 R 10 T ifrergEeda we ¥ TEE v W
3 3% Ieifed ¥ 1 (IW A Afuman w=-9m 50 w1 §)

Instruction : (C) Question Nos. 7 to 10 are véPy short answer type questions.

¥ -10

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)  http://www.cgboardonline.com

gfediy & &g @4 fram fafaw)

Write any three laws of resistance.

9= | & 7 3w fafau

Write three uses of methane gas.

FARR TS 1 A% Jd Fag, Fama ur 20 Azt au S 6
HR T

Find the area of parallelogram, whose base is 20 meters and height is

6 meters.

¥ 9 wd & WM H 9 fafag )

Write the definition of Back cross and Test cross.

(2]

(2]

[1x3=3)

[1x3=3)

(3]

3]
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[51]

Fger 1 (2) TE HHF 11 W 14 TF TEe0y ¥ §) ¥ W W
4 F FEfed €1 (IW F Afwaq v=k-91 75 9= €)

Instruction : (D) Question Nos. 11 to 14 arc short answer type questions.
Each question carries 4 marks. (Maximum word limit of
answer i1s 75 words)

USA-11 4,7, A, 9 F1 I TG 7 €, 9 A T °E a3 [4]
Arithmetic mean of 4, 7. 4, 9 is 7, then find the value of A.

HYgqr
OR
‘ayes W’ F R =R Evds T fafaw
Write any four essential qualities of ‘ideal mean’.
qoA-12 ' awatas wegn’ o s wegn’ § @ =R S fafaa [4]
Write any four differences between ‘Real spectrum’ and ‘Virtual spectrum’.

gqar
OR

£
21e 399 3 Eiete $9F § @ 9R AR fafae)
Write any four differences between Petrol engine and Diesel engine.
gya-13 i vaEa a4 it yaed 1 #1 9R AW fafa) (4)
Write any four differences between Aerobic respiration and Anacrobic

respiration.
3rerar
OR
HT-HIgY a1 ya99 4 $2 9r 3| fafau

Write any four differences between Photosynthesis and Respiration.

WYA-14  gerdEl g3 91 & 1 fafu fafag) (4]
Write the method to find Molecular formula.
Haar

OR
Famdra gof w1 Hd =R ferdrand fefiau

Write any four characteristics of Homogencous series.
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Instruction (L)

Uve-1s

uv-16
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Find median on the basis of given data in the fellowmng

161

(0) W wuia 15 W 17 a@ enrany e ¥ e Wl W

S s artra ¥ v & whyam wmae W a0 wee 7

Question Nos, 15 10 17 are short answer 1ype gquestions
Each question carres § muarks eMaximum ward Trnat of
answer s | 50 words)
fwvaa g o @1 vaata (vfae veanee) 98 o e o B L3
How s cthanol (ethyl alcohol) obtamned from syrup by fermentation?
Jaar
OR
= 7 uiAta (ofna vemed ) =9 #1 fafy ) g #1fan

Explain the method of preparation of cthanol (ethyl alcohel) from starch

Fafefas wren | fro m sitarsi = moem mor 3 Fif 3
ki 0-10 10-20 20-30 30-40 4050
FiaTn 7 9 12 8 Ty

Find arithmetic mean of given data in the following table -

Rangce 0-10 10-20 20-30 3040 1350
Frequency 7 9 12 5 4
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ear
OR

frafafus e | fau qu Atz & smam g w37 mem sty

o 33 34 35 36 3
aran,m 2 3 4 > :

ng lahic

e g et
— —— g s . I

[ Scores i3 34 1% 1_".1,__ .1..._-“{

Frequency

3 I A B

L o ]
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=19

171
gummfasl ¥ wem Fram 9w A wE wER g e @)
HTISITSY | [23+2Y2=35]
Explain eyclic process and isothermal process with the help of First
law of Thermodynamics.

Hear
OR
TR B i wogry vd 3w fon Q) s v fafe [3+2=5]

Explain Lunar cclipse with diagram and write two essential conditions
for it.

: (W) W wEE 18 ud 19 ddIwim e ¥ uEE §H W
6 3T aTEfza ¥ 1 (SR F s TR 250 VR ©)

Instruction : (F) Question Nos. 18 and 19 arc long answer typc questions.

Each question carrics 6 marks. (Maximum word limit of

answer is 250 words)
nﬁﬁwmw@,wﬁﬂ@ﬁﬁaﬁtﬁmaﬂwﬁmm
fafaq | ! : ' (242+42=6]
Writc floral formula, floral diagram and botanical name of any two

plants of Malvaccace family.

Ydar
Ok
[ Fe w1 9 G, quy form e feedll Q) el 1 et wm fefaa
Write floral formula, floral diagram and botanical name of any two

plants of Solanaceae family.

@ F2 % S T F e srs w1 aviA Fife W@ 3EE QA

anfie e ot feaf@ | [4+2=6)

Describe the different stages of life cycle of Lac inscct and also write

two economic importances of it.

yaar
OR
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[8]
qgwﬁﬁz%ﬁmwﬁﬁfwamﬁmmafﬁq@m
=1 anfef wee off fafaa

Describe the different stages of life cycle of Apis and also write two
economic importances of it.
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